11”25 (Kl 17%25)

Linearized knot diagam

Solving Sequence

11 — — — — — — - — Co.Cs.C
Aknotdmgranﬂ 0 oo 901111083803 4200 = 7 o 6> @ 0

Ideals for irreducible component#ﬂ)f Xpar

I = (—78512077u?" — 145372804u>® 4 - - - + 67221149b — 176175,
— 62468877u’" — 1207226540 + - - - + 67221149a + 343854265, u®® + 2u*" + - — bu + 1)
=@w+v’—v?+b—u, vt +u®—20 +a—u+1, v’ +ut —2u® —u® +u—1)

* 2 irreducible components of dim¢ = 0, with total 33 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L.
I = (—7.85 X 10"u?" —1.45 X 103u?¢ 4. .. 4+ 6.72 X 10"b — 1.76 X 10°, —6.25 X
1074?" —1.30 X 103u?® +- . - +6.72 X 107a+3.44 X 108, u?®*+2u?"+... —5u+1)

(i) Arc colorings
0
al == u
1
=\0
1
—u?

U
—ud +u

0.9293044:27 + 1.92979u26 + - .- + 11.1441u — 5.11527
1.16797u" + 2.16261u26 + - - - + 2.86935u + 0.00262083

—u?+1

(
(
(
(
as = (u —2u2)
(
(
(
(
(

a0 =
ag =
ail =

az =

aq =

0.885451u27 + 1.93727u2 + - - - + 3.16598u — 0.0228994
0.929304u%7 + 1.92979u20 + - .- +11.1441u — 5.11527)

1.01767u?" + 2.01755u6 + - - - + 12.4640u — 4.97118 )

ag =

1.40015u27 + 2.23327u?0 + - .. + 3.44274u + 0.0738023

0.823260u27 + 0.824473u25 + - - - + 0.360292u + 0.711827

as = —2.02865u2" — 1.42566u%® + - - - + 4.66019u — 0.824392

—1.43559u%7 — 1.43578u?6 + ... 4 3.66414u — 1.71740

ar = \1.00626u?" + 1.00303u?® + - - — 0.736587u + 0.00303364)

—2.44185u%" — 2.43882u26 + ... 4 4.40073u — 1.72043
1.00626u27 4+ 1.00303u26 4 - .- — 0.736587u + 0.00303364
( —2.44185u%7 — 2.43882u20 + ... 4 4.40073u — 1.72043
ag =

ag =

1.00626u27 + 1.00303u?® 4 - - - — 0.736587Tu + 0.00303364

(ii) Obstruction class = —1

T 767221149 u 67221149 67221149 u 67221149

(iii) Cusp Shapes _ _ 337541215, 27 737621299u26 R 124989334 310642967



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy u® —6u? - +Bu—1
C2 B4 6u -+ 1Tu+1
cs,cr u®® 4 3u®" 4 -+ 128u + 32
Cs u?® — 6u®" + - — 3079u — 1609
C6,C10 u28—2u27+--~—|—u—1
s, C9, C11 u?® — 20" 4. FBu+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C4 yB -6y 4+ — 1Ty +1
€2 y*® +38y% T+ — 1Ty +1
3,7 y*® — 33y% + ... — 14848y + 1024
€ Y28 + 22927 + .- + 19658749y + 2588881
€65 C10 Y 467+ 5y + 1
¢, €9, C11 y?® — 22y + . 5y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

0.078918 + 0.9620991
= —2.18951 + 0.085301
—2.13157 + 0.380391

7.91461 — 7.140261

—1.25171 + 4.709021

0.078918 — 0.9620991
—2.18951 — 0.085301
—2.13157 — 0.380391

7.91461 4 7.140261

—1.25171 — 4.709021

1.062800 + 0.1954241
—0.155091 — 0.1737581
0.944249 + 0.8907941

—2.13241 — 0.826191

—5.35184 — 1.047731

1.062800 — 0.1954241
—0.155091 + 0.1737581
0.944249 — 0.8907941

—2.13241 + 0.826191

—5.35184 + 1.047731

—0.064858 +- 0.9170241
2.10546 — 0.510611
1.81015 — 0.324961

8.51104 4 0.297131

—0.154356 — 0.0889341

= —0.064858 — 0.9170241
= 2.10546 + 0.510611

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b= 1.81015+ 0.324961

8.51104 — 0.297131

—0.154356 +- 0.0889341

u= 1.08514
a = —1.05851
b= —3.52629

—3.64067

25.0750

= —1.206550 + 0.0747401
1.56629 — 0.838501
0.209734 + 0.9192161

—5.80044 + 1.712981

—12.51650 — 3.417791

—1.206550 — 0.0747401
1.56629 + 0.838501
0.209734 — 0.9192161

—5.80044 — 1.712981

—12.51650 + 3.417791

—1.184170 + 0.2432471
—0.333050 — 1.0095501

U
a
b
U
a
b
U
a=
b= 10.117217 + 0.5005181

—2.65368 + 4.425501

—6.50791 — 7.505681




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

uw=—1.184170 — 0.2432471
a = —0.333050 + 1.0095501
b= 0.117217 — 0.5005181

—2.65368 — 4.425501

—6.50791 + 7.505681

u= 0429683 + 0.6314407
a = —0.286291 — 0.0345801
b= 0.231084 + 0.4984131

—0.69638 — 1.964561

—1.12748 + 4.703291

uw=0.429683 — 0.6314401
a = —0.286291 + 0.0345801

—0.69638 + 1.964561

—1.12748 — 4.703291

b= 0.231084 — 0.4984131

u=1.29906

a = —0.104420 —2.76755 —1.63490
b= 0.740536

u = —1.238710 + 0.4617641
a = —1.08774 + 1.059341
b= —1.71542 — 0.630511

4.88950 + 4.619561

—3.15122 — 3.644301

uw = —1.238710 — 0.4617641
a=—1.08774 — 1.059341
b= —1.71542 + 0.630511

4.88950 — 4.619561

—3.15122 + 3.644301

1.236490 + 0.5122291
a= 0.561715 + 1.2322501
2.01617 — 0.037911

4.35345 + 1.915481

—3.75065 — 1.714921

1.236490 — 0.5122291
a= 0.561715 —1.2322501
2.01617 4 0.037911

4.35345 — 1.915481

—3.75065 + 1.714921

u=1.338030 + 0.4231301
a = —0.503580 — 1.2525601
b= —1.76982 — 0.038061

4.11604 — 5.0942171

—3.90084 + 3.077891

1.338030 — 0.4231301
a = —0.503580 + 1.2525601
b= —1.76982 + 0.038061

u =

4.11604 + 5.094211

—3.90084 — 3.077891




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —1.35468 4 0.450411
= 0.88989 — 1.314601
2.05008 4 0.730451

3.42542 4 12.183001

—4.89577 — 7.017061

—1.35468 — 0.450411
= 0.88989 + 1.314601
= 2.05008 —0.730451

U
a
b
U
a
b

3.42542 — 12.183001

—4.89577 + 7.017061

u = —0.018893 + 0.5248961
a = —0.530824 — 0.5384171
b= —0.574926 + 0.3523371

0.76347 — 1.523101

1.12747 + 4.031931

u = —0.018893 — 0.5248961
—0.530824 4 0.5384171
b= —0.574926 — 0.3523371

0.76347 4+ 1.523101

1.12747 — 4.031931

u = —1.46446 + 0.203541
0.333881 — 0.2151001
b = —0.390847 + 0.0790261

—6.89024 + 4.971501

—3.93501 — 6.516661

u = —1.46446 — 0.203541
0.333881 + 0.2151001
b= —0.390847 — 0.0790261

—6.89024 — 4.971501

—3.93501 + 6.516661

u=0.194298 4+ 0.2096731
a = —3.28968 + 1.851141
b= 0.596766 + 1.0220501

—1.90419 — 0.701871

—5.30439 — 2.498151

u=0.194298 — 0.2096731
a = —3.28968 — 1.851141
b= 0.596766 — 1.0220501

—1.90419 + 0.701871

—5.30439 + 2.498151




II.
I¥ = (u*+ud—u?+b—u, v*+u®—2u’+a—u+1, v’ +u—2u3—u?+u—1)

(i) Arc colorings
0
ay
1
0
1
u?

aip =

)

—u3+2u2—|—u—1>

as = —ut—uwd+ i+ u

(
(
o=t
( 2
(u“_éui)
S Qb S Sy
e
(-
(
("

ag =

az = —ut —ud +u? +2u

0
U
—u?+1
ut — 2u?
ut +u
ut —2u

—ut +u?+1
ag = ut — 202

(ii) Obstruction class =1

ut 3+2u +u—1>

as =

ag =

(iii) Cusp Shapes = —2u* — 5u3 + 2u? + 8u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

“ (u—1)°

C2,C4 (u+1)°

cs3,Cy u®

& ub = 3ut + 4w —u? —u+1

6 ub —ut 20 —ut fu—1

cg, Co WHut =20 - tu—1

C10 WwCHut 20+ tu+1

c11 Wt =2+l tu+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5
C1,C2,C4 (y_l)
C3,Cr7 y5
€ -yt 8y =3 +3y—1
€65 C10 3yt A+t -y -1
Cs, Cg, C11 v’ =5yt +8y° =3yt —y—1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u= 121774
a = —0.821196 —4.04602 —10.7190
b = —1.30408

0.309916 + 0.5499111
a = —0.77780 + 1.380131
b= 0.428550 + 1.0392801

u =

—1.97403 — 1.530581

—6.52924 + 5.401541

u=0.309916 — 0.5499111
a=—0.77780 — 1.380131
b= 0.428550 — 1.0392801

—1.97403 + 1.530581

—6.52924 — 5.401541

u = —1.41878 + 0.219171
a= 0.688402 + 0.1063401
b= —0.276511 + 0.7282371

—7.51750 + 4.400831

—11.11126 — 1.167471

u = —1.41878 — 0.219171
0.688402 — 0.1063401
b= —0.276511 — 0.7282371

a =

—7.51750 — 4.400831

—11.11126 4+ 1.167471
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

€1 ((u—1)%)(u® = 6u*" + - +5u—1)

€2 (u+1)%) (u®® 4+ 6u* + -+ 17Tu + 1)
c3,C7 uP (u®® + 3u®" + -+ + 128u + 32)

ca ((u+1)°)(u® = 60> + - +5u—1)

€5 (u® — 3u* +4u® — u? —u+ 1) (u®® — 6u*" + -+ — 3079u — 1609)
6 (w® —ut +2u —u? 4 u—1)(u® - 20"+ Fu—1)
s, Co (u® +ut — 20 —u? 4 u—1)(u®® — 20>+ +5u+1)

€10 (w® +ut + 20+ +u+1)(u®® — 20+ Fu—1)

c11 (u® —ut —2u® +u? Fu+1)(u®® = 202"+ F5u+1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 ¢ (=) W* = 6y*" +--- = 1Ty + 1)
€2 ((y = 1) (5> +38y* +--- — 1Ty + 1)
cs3,Cr yP(y*® — 33y%7 + -+ — 14848y + 1024)
cs (4" —y* +8y° = 3y° + 3y — 1)
(Y 22977 4 -+ + 19658749y + 2588881)
C65 C10 (" +3y* + 49> +o* —y — ) + 60>+ + 5y +1)
C8, Co, C11 (y° —5y* +8y> = 3y> —y — 1)(y™® —22°" + - + 5y + 1)
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